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M ;WO F 15 e Tl @ s ge & foe fifa §

Note : First 15 minutes are allotted for the candidates to read the question
paper.
fdwr -
) W e s | st I e s §
i) WY GEN 1 ¥ 10 9% Sgiaedd €1 W 9@ 11 ¥ 20 A @Y WA €,
. STt Y. ST OIS 25 Wial | AT €1 W9 U 21 W 26 a9 ofg Iwy
¥ frel i diTr 50 WE ¥ | W W@ 27 ® 29 % fga seg § e

Y% I 150 TR A 3 2
Instructions :
i) All questions are compulsory. Marks allotted to each question are
given against it.
iij Question Nos. 1 to 10 are multiple choice type. Question Nos. 11 to
20 are very short answer type to be answered in about 25 words

GaCh. QUEStiOH NOS. 21 to 26 are Short answer type to bc answered
in 50 words each. Question N0S. 27 tq 29 are long answer type to be

answered in 150 words each.

12000/1223 [ Turn over



340(FP) 2
[ Sgfamedia 99 |
[ Multiple Choice TyPe Questions ]

TEE @S % AR fowed i m B @ Seer o W@ ¥ W@ ST s
I-YRae o fefian

Four options are given in each part of the following questions of which
only one is correct. Choose the correct option and write it in your

answer-book. _
1. FIHeaH FEET F Rigia % quels &

i s i)  9red %

i)  HeHH iv) ail'( 1
1. Supporter of the theory of optimal population is

i) Dalton . i) Charles Cooley

1i)  Malthus iv)  Weber 1
2, 98 SR W Uh A9 W dn ¥ e & A9Y 0 ANAE g @)

sftshfira Fefl B, Fgard §

i) wmfae sEfEemEm i) | fore
i)  wmartee favde i) SR T 1
2. The system which supersedes g hicrarchical. structure with classification

of people in a society is called

' 1al i i jocial commentary
1) Social intolerance iij  Social ¢

: . ‘e i Social stratification
iii)  Social differentiation iv)

12000/1223
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‘B A" 6T Ty Ry @ 4 o

) FUSHRI | i) P I @
iii) Wt IeqEw @ iv) WeR IeqTeT @ 1

‘Green Revolution’ is related to which field ?

K

i) Milk production i)  Agriculture production
i)  Vegetable production - iv)  Fish production 1
sitefres swify adum =l g »
i) e i w4
iiij §evg . iv) SiE | 1
Where did the Industrial Revolution first occur ?
i) America | i)  Russia
iy  England iv)  France 1
SRV FAE’ I Aged fahga R o1 ? |
i) o TN YER i) e ﬂhﬁ
iiijy ETEATA AE® iv) YR AR .

Who led ‘Champaran Satyagraha’ ?

i)  Dr. Rajendra Prasad i)  Mahatma Gandhi
iiij Jawaharlal Nehru v}  Jayprakash Natayan 1
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6.

WRA § snyfrRism S I I 2

i) TRl ii) afvaeT
i) e iv) Y@
The main reason for modernisation in India is

i) Urbanisation )  Westernisation

i)  Industrialisation v)  All of these

el &1 gy @
iy Hfgs Hifya i)  amfees Hife @
iii) 3uﬁﬁ%waﬁﬂ=ﬁﬁ!ﬁ

iv) 3R Hfifera fofal §
‘Liberalisation’ is related to

1) Education policy ii) Social policy

11i) Colonial policy

iv) Economic policy decisions
I 3o e A v g o
i) 1930 i) 1936
i) 1947 w) 1951

When was ‘All India Radio’ established ?

i) 1930 i) 1936
iii) 1947 iv) 1951
Eqﬁlnnaiﬁﬁﬁmﬁiﬁwwarangﬁﬁgaswmiquflg

) Reiw i) W

i) ®i-gey A1 w iv) FHA g T8
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9. Gender inequality is having adverse effects in our society on
1) women i) men
i)  women-men both iv) none of them i

10. 37T B ) RN %1 gy fead R
i) AR, *. A3 ij) o
i) WA iv) fam 1

10. The concept of ‘invisible hand’ is related to

i) R. K. Brown : ii) Marshall
iii) Spencer iv)  Smith 1
[ Afq g I W
[ Very Short An:we; Type Questioﬁs ]

11. ‘wwEifes IS @ 39 R A § 2 _ | 3
11. What do you understand by Weekly market’ ? 3
12. e sramAd & w0 Y 7 ? 3
12. What is meant by gender ingquality ? 3
13. ‘St @’ @ o w aued § 7 - 3
13. What do you understand by ‘tribal conflict’? 3
14.  ‘amfye smEum % = fafee) 3
14. Write the steps of ‘Social research’. 3
15, “sheiifier & 3 9ot e 8 A 3
1S.  Explain the effect of Industrialisation” 3
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16. mmu gur i Rrivand s 3
16. Explain the characteristics of rural socicty. 3.
17.  ‘g3am’ aw ‘aenad’ ¥ s aim v S 3
17 Explain the difference between ‘Strike’ and ‘Lockout’. 3
18, SR wehiw ) F wweEd # 2wy iy 3
18. What are the problems of tribal integration ? Clarify. 3
19, %ﬁmmﬁémmﬁvhqﬂmﬁamgwﬁ%aﬁﬁmi 1+1+1

19. Write about three Indian social reformers during the British colonial
period. L+1+1
20. mﬁm%ﬁwﬁwﬁamgﬁhﬁmaﬁaﬁﬁm 3
20.  Mention the major challenges related to cultural diversity of India. 3
[ ¥ 3wdta we |
[ Short Answer Type Questions ]
21, maﬁmmamfmn?mamﬁmwmqsr? we Hifyg) 6

21, What effect did globalisation hay

e on employment opportunities ? Clarify,
https.'waw.upboardonline.com

6

22 AR E WAl 4 ER A ahads ) frae S 6
22, Discuss the changing forms of the means of mass Cf;mmunication. -6
23, HIEE WIEeH & i i o) wE Hif 6
23, Clarify the main reasons of women movement. 6
24. Auiferdiy @wnw % fagia @ auiy SR 6
24.  Describe the theory of demographic transition. 6
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25.

26.

26.

27.

27.

28.

28.

7 340(FP)

fesaimit & fTC fovy T el et Y fdE Fift) 6

Discuss the government efforts made for the Divyangas. 6

"R BRI 3R He g o wmte AR YoE S 21 s #if 6

“Indian society and structure provides us a social map.” Explain. 6
[ fregar s wot |
[ Long Answer Type Questions |
‘3“ﬁﬁnmm3'iT3WqﬁWTEﬂsﬁi§?‘Qﬁhnﬂﬁﬁifiﬁﬁh$n1£ﬁéq|' 8
el
et gar 8 sy F awEl # TeiEA hiferg 8
What do you understand by ‘colonialism’ ? Discuss th3 effects. 8
OR
Evaluate the impacts of modernisation in Indian society. 8
3ngﬁﬁﬁsﬁaﬁﬁ%;nﬂniéaEﬂﬂ—gﬁﬁzﬂedﬁﬁmn 3
, | g
e 3 s @ & afed e R G few g g
Explain the advantages and disadvantages of modern mass media. 8
| OR
Write a note on the change and_ development of industrial socif:ty in
India. 8
[ Turn over
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20 ‘wmie wiwT frd wEd § » sad W@ B TRV
Juat
HEATHR IEfY i gfonfi w1 g e TT@ @i S ay w)

29. What is called ‘social survey’ ? State its main objectives.

OR

Define interview method and explain its main advantages.
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